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Section : General English

Q.1 Choose the word that can substitute the given sentence.
A building where an audience sits

Ans X 1. Aisle

x 2. Hanger

X 3. Gymnasium
o 2. Auditorium

Question ID : 23908747
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank.
He his portrait in the main hall.

Ans X" 1 had hanged

J 2. hung
X 3. hang
x 4. hanged

Question ID : 23908734
Status : Answered
Chosen Option : 2

Q.3 Choose the correctly spelt word.
Ans X 1. Anthusiasm

x 2. Enthusiesm
( 3. Enthusiasm

X 4. Entheusiasm

Question ID : 23908749
Status : Answered
Chosen Option : 3

Q.4 Choose the word that can substitute the given sentence.
A book of names and addresses

Ans X 1. Diary

J 2. Directory

#< 3. Dictionary

x 4. Journal




Question ID : 23908748
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate synonym of the given word.
Misfortune

Ans X" 1. Benefit

J 2. Calamity
x 3. Support

x 4. Miracle

Question ID : 23908741
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word.
Capable

Ans  of 1 Competent
x 2. Conceited
x 3. Complacent

x 4. Consistent

Question ID : 23908742
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Mohan is pleased at the news yesterday.

Ans x 1. No Improvement
J 2. was pleased
X 3. had being pleased
x 4. has been pleased

Question ID : 23908732
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate antonym of the given word.
Comic

Ans x 1. Tickle
x 2. Happy
J 3. Tragic
75 4. Jubilant

Question ID : 23908744
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to substitute the underlined segment in the given




sentence. If there is no need to substitute it, select No Improvement.
The doctor has reassure me that the operation was a routine one.

Ans X 1. No Improvement
J 2. had reassured me
X 3. is reassured me

x 4. reassure me

Question ID : 23908731
Status : Answered
Chosen Option : 2

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
Over my dead body
Ans J 1. Opposing something fiercely
X 2. Inheriting to fortune
x 3. Erecting a grave stone

X 4. Threatening to kill oneself

Question ID : 23908745
Status : Answered
Chosen Option : 1

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The bullet struck a wall and was from its course.
Ans X 1 reflected

x 2. twisted

J 3. deflected
X 4. crashed

Question ID : 23908751
Status : Answered
Chosen Option : 2

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

My aunt/sold her boutique/to a billionaire.
Ans X" 1 1o a billionaire

x 2. sold her boutique

x 3. My aunt
J 4. No error

Question ID : 23908728
Status : Answered
Chosen Option: 1

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To end in smoke

Ans X" 1.To do one's duty well

X 2. To not agree to something




x 3. To be the cause of a quarrel

J 4. To come to nothing

Question ID : 23908746
Status : Answered
Chosen Option: 3

Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

All the students/is done/better this year.
Ans X" 1. All the students

J 2.is done

x 3. No error

x 4. better this year

Question ID : 23908727
Status : Answered
Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Rakesh is foolish/to said/such things.
Ans J 1. to said

x 2. No error
X 3. such things
x 4. Rakesh is foolish

Question ID : 23908729
Status : Answered
Chosen Option : 1

Q.16 Choose the correctly spelt word.
Ans x 1. Financialy

J 2. Financially
x 3. Finantially
x 4. Finencially

Question ID : 23908750
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate antonym of the given word.
Inexpensive

Ans  of 1 Dear

x 2. Reasonable

x 3. Popular
x 4. Liberal

Question ID : 23908743
Status : Answered
Chosen Option : 4




Q.18 Select the most appropriate option to fill in the blank.
My teacher is the of all.

Ans  of 1 kindest
75 2.kind
X 3. kinder
75 4. kindly

Question ID : 23908733
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 1.

Ans X 1 relate

x 2. relation
J 3. related
x 4. relates

Question ID : 23908736
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3)___ human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 2.

Ans  of 1 of
X 2. for
25 3. with
X 4in

Question ID : 23908737
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) ____ will stop the transmission of disease.




SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 3.

Ans ( 1. Preventing
X 2. Hampering
X 3. Prohibiting
X 4. Facilitating

Question ID : 23908738
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 22
Q.22 Select the most appropriate option for blank No. 4.

Ans X" 1 ignores
x 2. paves
W 3.aims
75 4. directs

Question ID : 23908739
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3)____ human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5.

Ans  of 1 that
X 2.who
X 3. whom
X 4. these

Question ID : 23908740
Status : Answered
Chosen Option : 2

Q.24 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
lam of winning the competition.

Ans X' 1 resistent

« 2. confident




x 3. pertinent

x 4. reliant

Question ID : 23908752
Status : Answered
Chosen Option: 2

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Who can prevent you from getting married now that you are within age?

Ans X 1.in
«2. of

X 3. No Improvement

X4. on

Question ID : 23908730
Status : Answered
Chosen Option : 1

Section : General Intelligence & Reasoning

Q1 v o F A & T wa A # R e Aget Fer @ ) wies F aw 98 R et
FTpfer Shar famms &eme?

Ans

A‘éox;a
V?O't?

Hopn
wow

Question ID : 239087304
Status : Answered
Chosen Option : 3




Q.2 U ge WIST H, ‘PRINT ol ‘96512 forar w1 & ik ‘FROM'’ &t ‘8603’ forar sirar &1 3+ ge

ATST # ‘PROMPT’ <RI <Rl <RIT @hT?
Ans X" 1960398

o 2960392

/< 3.980392
75 4.960395

Question ID : 239087287
Status : Answered
Chosen Option : 2

Q.3 fFA=fafda el 4 @ 39 2res &t gfag it Fafaf@a siaen d iR o @ S ave & Safa

& 9 a=e @ guRT 2ree uge orez @ Heifda @1
T[T : AR 2 AT : ?
Ans J‘L‘qﬁg}'
K 2. @R
/< 3.9m
/X 4. ueft

Question ID : 239087282
Status : Answered
Chosen Option : 1

Q4 fm v Yot F eAEEE HeTT FY AR 3w AEE F T S v BET () F FE W osmweie

%
K

v

Ans

2] &S [ 65

Question ID : 239087301
Status : Answered
Chosen Option: 1

Q.5 Prefarae R 4 @ T sier g # gfg ot Prafafle siaer 3 e ser 7w & o a<e

@ Hafda &, 9 g & R 918R g ugd o18R g § Hafdd 81

PB:UW:JT:?

Ans X" 1.NO




o 2.00
X 3.M0
75 app

Question ID : 239087284
Status : Answered
Chosen Option : 2

Q6 37 M@ # AT S A Ru C = F S F @6y T THER F gl g

"% QD

Question ID : 239087305
Status : Answered
Chosen Option: 2

Q7 9 v ZUUT F AB W1 W I@ AT E AT A & TR 3l F @ guor ofF & gfaw

A
AV
—h
<1 =
A V—
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Question ID : 239087303
Status : Answered
Chosen Option : 2

Q.8

Ans

Teh e |TST &, ‘TAN' ot ‘33’ forar STrar g ofik ‘PAM' it 28’ forar sirar @1 3¢t e Wi & ‘BUG
hT hIS T gIIT?

75132
X 2.29
o 328
/X 4.30

Question ID : 239087288
Status : Answered
Chosen Option : 3

Q.9

Ans

i3 feg faereal & & 3w e & g 5t fAafef@a siaer 9 ust g (?) & wum R st
43,31, 74,105,179, ?

X 1.279
o 2284
/X 3.294
/X 4.263

Question ID : 239087294
Status : Answered
Chosen Option : 3

Q.10 a3} RgY, 'x aur ' & 9" & gg fear sirar @ af Amfafad d @ Si= a1 g ad ghm?

Ans

X 1.14+62x13+31=38
o 2.14+9:23x3=83
75 3.11x12+48+6 =40
/X 4.63+59+4x8=171

Question ID : 239087299
Status : Answered
Chosen Option : 2

Q.11




T av et =1 ewmEs anemEe # AR 3w wEw @ g9 S weA RBEw ()& we W s

4 11 19
5 6 0
2 13 3
18 30 ?

Ans X1- 20
X2 24
<3 18
v 22

Question ID : 239087297
Status : Answered
Chosen Option : 4

Q.12 7 Ry faereal & & 39 s12R g o6t gy ot Fafof@a sfaar d us Rg () F s w
ST

KP, HM, EJ, BG, ?

Ans X" 1 xC
W 2D
X 3.ZE
X 4.

Question ID : 239087281
Status : Answered
Chosen Option : 2

Q.13 frw =w fwest & & 37 3eaw Ay G wE AN & 7 Al e B R B g
& Aty =@ )

AN

SNy

X2




v

Question ID : 239087302
Status : Answered
Chosen Option : 2

Q14 Fr e Reedt § F 38 AP F gRAC ST TS S@er F e U W AE|

?

%

—<on /2’0
Ans

<1 |—pen

X 2 |oBdg—

<3 |ODeod—

v 4 |Deb—

Question ID : 239087300
Status : Answered
Chosen Option : 4

Q.15 Qeh e |T9T &, ‘GREAT’ &t ‘ALYUN' forar sirar &1 3%t e e & ‘RAPID’ T i o/ givm?

Ans  of 1 LUJCX
/X 2. SWLEZ
/X 3.LvJex

/5 4. RVKDY

Question ID : 239087285
Status : Answered
Chosen Option : 1

Q.16 uia fohara - B, G, N, P YT T Teh o SR Qeh 71 TS g (S Al fh A seft srm A gl) INTanG &
g heol Qe fohdTar 3 12t 21 B, P & §1ah SuR 1B, N & FWR 81 G, N & FuR 181 81 a0 SR

i H} foherear 82

Ans «1.5




X 2.6
K 3T
X 4P

Question ID : 239087291
Status : Answered
Chosen Option : 1

Q.17 3 Ry g =t ok 373 Fearsf &t earr @ ufew) et & € € ST @t @ A g,
IR & G U 71 941 @ 1399 a g, fAofa fifSie f R mo saar/@ e, sy @
arfher 9 & SIHERUT Tel/aha &

YU

LB K ME

I.AET, MTE 8l

e

L3 T, KE

.8 M, KgI

Ans X 1. 2T e | a 11 SEROT &R B

75 2. Sare i | SERUT SRl B
75 3. s oft Frene argeRor 78t g 21

(4.%3&1@5&”@%%

Question ID : 239087293
Status : Answered
Chosen Option : 4

Q.18 I A G ohl T hifSY fAeeh g 2reg o1us | I+t uerR Heifda @ o v i< g g
2TeZ T o T 2reg ITaw | Halfer &1

e : STpIel
Ans X" 1. fRel : @er
X 2. &R =i
o 3. R Srgamnh
X 4. g

Question ID : 239087283
Status : Answered
Chosen Option : 3

Q.19 gfaafts - F J, N, R a1V & i 3R J@ & Teh aTehR A & 3¢-ME 98 gu & (S8 71t
fFagheradal)iJ, F& gia arfi stk da1 81 N, F & arff ok R Tu wR 81V, J & arff ek
TR TUF W g1 J & ST 3R gER TUTH U= i AST gt &?

Ans o 1R
X 2N
K 3F
K oav

Question ID : 239087290
Status : Answered
Chosen Option : 1

Q.20 H= fRg g AT ofiR Ik Frepuif it e @ ufeg| e # &t 71 SRt R W AT g,




IR & G 9 71 941 @ 1399 a g, Aofa fifSie s e mo saa/@ A, syt @

ATfcher U & SITERUT Shel/EA &

HY:

TS T A
gfiddas

g 93 A TE 8
forser:

I. o T AT &
.3z U g

. g mEd &3 g

Ans X" 1 fsd | SR 11l SRR &R §
75 2. Sarer e 11| SERYT SRl 21
(33@8%”@%@
2K 4. R | 3R 11 IrgERoT R §

Question ID : 239087292
Status : Answered
Chosen Option : 3

Q.21 U e 91T A, ‘STEALH' &t 'UXGENL forar Sirar &1 3+t gge +imar & 'ROBNRT’ & i &
gm?

Ans X" 1 TSERTX
/< 2. UTESUY
o 3. TSDRTX

/< 4. UTFSUY

Question ID : 239087286
Status : Answered
Chosen Option: 3

Q.22 F=fafE el d @ 39 @ &t gfag st =@ sfee d fiad sen @ sfraw @

Teifda & o avg @ g T ugeh S @ S&6la g1

36:109::25:?

Ans x1_72
o 276
/< 3.74
X 478

Question ID : 239087296
Status : Answered
Chosen Option : 2

Q.23 = Ry et d & 39 d@wen &l gy st Fafaf@d sigen 7 us Rg (?) & T v et

69, 109, 159, 219, 289, ?
Ans X" 1349

/X 2.359
o 3360
/X 4.379




Question ID : 239087295
Status : Answered
Chosen Option: 3

Q.24 S @A - C,E, G, |, KTUT M F= i 31k H& &eeh Ueh GaTehR Aol & 56-F1E 33 gu & ofie d asfh
T - TR G RER G R E (T T8 F I mA A &)1 E, C F arfi IR MR WA R BIK,
G & i i iR U 1 G AT | Ueh GER <l aRh P-4 Hg ford gT &1 | & andf ofie & =i
g9 19T M & 7en frea P a3 gu &2

Ans  of 13
K 2.1
X 3.0
X 4.2

Question ID : 239087289
Status : Answered
Chosen Option : 3

Q.25 Tf 3iek 2 31R 3iF 1 &l WER T far sirar @ &t R=faf@a aefiezor &1 a @ ghm?

9+6+4%x21-5=7?

Ans JTZZ
X 2.23
7< 3.29
/X 4.24

Question ID : 239087298
Status : Answered
Chosen Option : 1

Section : Numerical Aptitude

Ul U+ V=80 FMU:V=5:3 % arU-V & 7= Baem 3?7
as 1 90

X215

< 3 30

K 4 25

Question ID : 239087417
Status : Answered
Chosen Option: 1

Q.2

A= U~ F HgeaH WATTaw (T W )

16

> T & acad FAEaE (Te @ OH)
A + B F1 A Faar 22

Ans x1 250
31

X2

23

oy
"




W EY i

20

X4E

71

Question ID : 239087406
Status : Answered
Chosen Option: 3

Q.3 frdr aFg @ 25% @ T 37.5% @i W U4 & Rew gew & AT 11250 §) 99 5§ 12.5% @
T 9T AT & A gEe fww qew e g

Ans 131800
X 2. 32500
X 332400
v 4 32250

Question ID : 239087414
Status : Answered
Chosen Option : 4

%% 49, 62, 37, 55 TUT x T HTT 53 ¥ x F T w72
Ans X1- 56

X 2 68

X3 76

v 62

Question ID : 239087409
Status : Answered
Chosen Option : 4

Q.5 & fEr T goo-aE, ©F OO SEIedt an ot FEeT & qeed suerT H wEa &5,
At Fr For FEA F GiAa F 7 F 2 ¥ e # =i S s R smte e s
AT 7 7

FIAT C6 SIRT Tocd ATl Tl T Feard HIT (SUHRAT F UF TUH oOF) fobcenm = &7 22
Ans X1 51.7°

X 2 451°

v': 39.6°

X 4 52.8°

Question ID : 239087430
Status : Answered




Chosen Option: 3

Q.6 foelr 3g =7 iR FFw 22500 ¥ 30 FAM 12% @ 10% F & 7w gl W A= v 31w

o fore $2

Ans  X1.21870
X 232090
X 321760
v 4 31980

Question ID : 239087411
Status : Answered
Chosen Option : 4

Q7 mger &1 357 g ¥ da7 ¥ 212000 AOF B A mEw wur FAG F T F AT 7 4 ¢, A

AT &1 a1 fovaem 1?

Ans  of' 1. 316000
X 2312000
~ 3318000
X 4320000

Question ID : 239087418
Status : Answered
Chosen Option: 1

@ 7+2-[30f7+4+{(2+5)x(25+8)+ (5+2)]]

Question ID : 239087408
Status : Answered
Chosen Option: 2

%° DD.MM ¥ w7 & ffgE, 9¥ 2019 Hr FiTH-fY (@Hf2g= ) &

Ans  X1.01.07
X 2 30.06
v 02.07
X 4 03.07

Question ID : 239087412
Status : Answered
Chosen Option : 1




Q10 v 7w 6 e F 300 MR 1 g F7 I THE T W WA A km/h F T 2

Ans X150
V23
X312
X6

Question ID : 239087423
Status : Answered
Chosen Option : 2

Q11 o =afeg 39 307 & 10% e T T T g1 98 99 99 1 20% $U W @Y T gl TS

3WF T 34680 99 , & 3UST 394 Fraer 27

Ans 1. 36000
X 2. 35000
v 2 36500
X 4 35500

Question ID : 239087413
Status : Answered
Chosen Option : 3

Q.12 o7 ST # v 79 Fr a1fF 8 kmih §1 TfE amr & Aty 2 kmh %,a’rﬂma:gﬁ?@rmﬁgvzd%ﬁ

T Rl gl AT

Ans X116 km
X214 km
X 3 20 km
v 412 km

Question ID : 239087424
Status : Answered
Chosen Option : 4

Q13 Tl woagss # 9RAT 20 cm ¥ 3EF T TRT F @S 6 cm ¥ gEy Rt Fr owars Reee

¥

Ans - X110 cm
V2 8 cm
<39 cm
<46 ecm

Question ID : 239087426
Status : Answered
Chosen Option : 2

Q.14




Y T AT Ie-3NE, TF HOE-3E FEAEAT GaRT BRET S J eod ST @y TEam #5,
T F T T F AT F T F AT §1 FeI-ANG F VST HE wr G st e §
HTER FE 8

FHET C1 U7 Fr C3 & et F T F g Fhee §7

Ans X 1.2 :
X212 : 11
v2:3
X46:1

Question ID : 239087428
Status : Answered
Chosen Option : 2

Q.15 ¢ =afFa 2 ==t & B 2500, 5 =91 ¥ BT 2600 F=2r 6 I9F & BT 1000 T T TWrUNOT =0 Hr
FAW & W A B g1 TG 9 FoT 21000 F WGRT & o Il §, o 9 a9 =01 7 &
et 37

Ans X 1.15%
X 2 5%
v 10%
X 4 20%

Question ID : 239087419
Status : Answered
Chosen Option : 3

Q.16 g T & RF=r &1 sitma o 20 g 9 g ¥ & & 12 et o7 sitgg 9% 35 g v B ¥
20 oot & e ofy R sitgg o foraar 22

Ans 1 25 g
Vw229 g
X<321g
<431g

Question ID : 239087410
Status : Answered
Chosen Option : 2

Q17 fadr 5g = 15% @7 oY 11725 F &7 0w {1 AE SH 15% T @ W A= v § & Gww gew
feheaT grem?

Ans o 1. 31275
X 2. 31475




X 321025
< 4 21325

Question ID : 239087415
Status : Answered
Chosen Option: 1

Q.18 (R:Eﬁ_)
TF T ST 6 cm gl T F HT TAS I HEH T3 Il F AAHA (el 87 7

Ans 198
v = cm2

318
X 2. Tcmz

252
X 3. o cm?

156
X 4 T.;:;r'|"|2

Question ID : 239087425
Status : Answered
Chosen Option : 1

Q19 AT R s S N R T aFa f I Baraisdi s 40 R A arar d1 R A D
JFHIT FF § TH G (3TEE 39) F FH # §, O F9 o T F (@ewes & & we
&) I g STen?

Ans  of 1. 34.25
<2 3233
< 3 16.33

X 41725

Question ID : 239087422
Status : Answered
Chosen Option : 1

Q.20 gfy ¢ Tfer wrgfe == (A FOfem) & W= T @ &7 T TeEd 74000 JUT W 99 TownT
36000 & =T &, ar ufdr = 37

Ans 1. 22888.88

v 2 32666.66

X 3 3277777

< 4 32866.66

Question ID : 239087420
Status : Not Answered
Chosen Option : --

Q21 3 i 2
Ans J . 107




XZE
x?,E

17

X4E

25

Question ID : 239087407
Status : Answered
Chosen Option : 1

Q.22 A g B foeem ol 18 &1 20 T & T ¥ {1 B I C e 38 F1F #7 25 T F 7w gy
Fl C 7w A et 3T F18 # 15 A & FT ma &1 A Fer 30 & @ e e & w5 gear
i

Ans 600

K —

17
e00

v

23

X 3 1200

23
1200

X o 120

17

Question ID : 239087421
Status : Answered
Chosen Option : 2

Q.23 & R 79T Fo-3NE, OF H-3ERT FEAET AN BT e # Yeod A9EiT B e =,
AET # Fo TEAT & Tiowd & T H AT §1 o3 Nd # BT HE wr Bl sl e E
FFAR 7 g1

Frie # Al et F F HEar 3800 ¥ A F9A C2 gur C5 ¥ Sverdt B HEm # e fhaer 37

Ans X 1. 382
X 2 362
V'3 342
X 4. 322

Question ID : 239087429
Status : Answered
Chosen Option : 3

Q.24 g gamet T oS, s st S FH 15 cm, 12 cm &2 11 cm # méa—?rﬁg%mm

s & st <ters = 82 % wer R S § el s @ et w@r e ) gan & (@
ﬁsﬁﬁaﬁmaﬁmmﬁg@mw&mﬁﬁﬁgﬁmﬁmmh

Ans X122 em? Fr FAT




X2 22 cm? & giE
v FE ofiEde a9
X 4 33 cm? @ FE

Question ID : 239087427
Status : Answered
Chosen Option : 3

Q25 gfrx+y+2z=400 G x:y:z=1:1:2 & Iz F T T &2
Ans X 1.100

< 2150

<3120

v+ 200

Question ID : 239087416
Status : Answered
Chosen Option : 4

Section : General awareness

Q.1 SuHi=hI TReror fRAdwres, 2018 A Iui=ht Txeror fAfAT @1 vu= & foran & [/ # &Ry
v mam am

Ans X" 11988
/X 2.1984
o 3.1986
/X 4.1989

Question ID : 239087165
Status : Not Answered
Chosen Option : --

Q.2 T=Hed (Gunmetal) fore fasr arg & A &2
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